FR26FEE = AT NAREEELHES REE

(Er264E6 A 30 AHER274E3H 31 H £ T)

mA (7 : )
B B | SUTEHE| AFHE | RAKREHE w E
1 A& 500,000 500,000 O|=ATH#EE 500,000/
2 fiBh& = = 2
3 BEsE = = o
4 FERA - 30 — [FAEF]E
& aF 500,000 500,030 0
i (B : [3)
A B |49TREE| XHEHE | A A & w &
1 EEE 500,000 309,300 190,700| B = Pt E %
(1) &% - 299,256 HHESERHILE
(2) EF¥E 10,044 SRHAWER
2 EXE = = =
3 EE& = = =
4 FHEE = = e
& B 500,000 309,300 190,700
PRAHHE - XHEE = =588
500,030/ 309,300 190,730 (ER2TAEESE ~#lL)

EROBABRHREICOVWTEEZEBLIER, BEICLBINTWHILE

BOET,

FR2T4E TH )‘f H

BEEZR
EEZER




